WEST BENGAL MEDICAL SERVICES CORPORATION LTD (Wholly Owned by the Government of West Bengal) CIN:U85110WB2008GC126373 2008-09 Regd. Off. Swasthya Sathi, GN-29, Sector-V, Salt Lake Phone: 033 40340300 Fax: 033 40340400 email id: info@wbmsc.gov.in

<u>Name of work:</u> Setting up of office area at 2nd floor and 3rd floor for WBMSCL staff at Swasthya Sathi Building.

NOTICE INVITING TENDER

Managing Director, West Bengal Medical Services Corporation Limited, Swasthya Sathi, GN-29, Sector-V, Kolkata - 700 091, invites sealed bids from eligible contractors with experience of similar nature of work for the work of **"Setting up of office area at 2nd floor and 3rd floor for WBMSCL staff at Swasthya Sathi Building".**

The details may be available at Notice Board of WBMSCL & website <u>www.wbmsc.gov.in</u> and to be submitted (offline) on or before 2:00 P.M. on 20/12/2021 at HQ, WBMSCL at Swasthya Sathi, GN-29, Sector-V, Salt Lake.

| No of Site | 1 no. |
|-------------------------------------|--|
| Estimated Amount | 208685.00 |
| Bid Security/EMD | The bidder will have to deposit earnest money Rs. 4174.00 (In the form of DD from a scheduled bank drawn in favour of "West Bengal Medical Services Corporation Ltd"). |
| Security Deposit | 3% of the contract amount to be deducted from the Bill for each work. |
| Releasing of Security Deposit | One year from the date of completion of work |
| Tender Publication Date | 13/12/2021 |
| Last date of Submission of Tender | 20 /12/2021 Upto 2:00 PM |
| Date of Opening of Tender Document | 20 12/2021 Upto 3:00 PM |
| Validity of Quotation | 120 days from the date of opening of the financial bid of the tender. |
| Time allowed for completion of Work | 7 days from the date of Work order for the work |
| Eligibility of participating bidder | Bonafied reliable and resourceful firm having executed similar nature of Work. |

| | Intending tenderers should produce credentials of a similar nature of completed work of the minimum value of 40% of the estimated amount put to tender. |
|-------------------|--|
| Bid opening Venue | HQ, WBMSCL at Swasthya Sathi, GN-29, Sector-V, Salt Lake |

Prospective bidders are requested to submit the bid in a sealed cover addressed to the Managing Director, West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29, Sector – V, Salt Lake, Kolkata – 700091 within the stipulated date & time.

Bidders are instructed to submit their bid consisting of two sealed envelope called "Qualifying Bid" &" Financial Bid" in the tender box of WBMSCL by hand. Bid will not be taken by postal system/courier.

Documents comprising the bid: (Bidders are instructed to submit their bid consisting of two sealed envelope called Qualifying Bid & Financial Bid.)

The Qualifying Bid shall comprise the following: -

- a. PAN No.
- b. GST registration no.
- c. IT Return for the assessment year of 2020-21.
- d. P-Tax for FY- 2021-2022
- e. credential certificate of similar field
- f. Duly signed NIT
- g. Trade License valid for FY 2021-2022
- h. EMD receipt.

The Financial Bid shall comprise the following:

Applicable Rate Schedules as per printed format on the letter head of the intending bidder.

(Rate must be given in the B.O.Q. provided below, on the letter head of the intending bidder. Rate is inclusive of all taxes, charges in respect of all the sites/location. Any taxes, charges etc shown separately will not be considered. Rate Quote in any other format will be treated as cancelled).

The intending bidder(s) required to quote the rate (percentage above/below/at par) over the total estimated cost put to tender considering that no escalation and / or price adjustment will be allowed by the department under any circumstances.

A bidder shall have to furnish signed "Financial Bid" on their letter head. The financial bid of only of those bidders will be opened who meet all the requirements of the technical bid.

Failing to fulfil the requirements and eligibility criteria set in the bid document will make the bidders Bid invalid. WBMSCL reserves the right to cancel or reject any or all of the Bids without assigning any reason whatsoever.

Sd/-Managing Director & Commissioner, H & F W Department

Setting up of office area at 2nd floor and 3rd floor for WBMSCL staff at Swasthya Sathi Building

| | <u>B.O.C</u> | 2 | | | |
|------------|--|----------|------|----------|------------------|
| SL. NO. | DESCRIPTION OF ITEM | QUANTITY | UNIT | Rate | AMOUNT |
| 1 | (A)Wood work in posts, post plates, rafters, battens, | | | | |
| | truss members, purlins etc. fitted and fixed complete | | | | |
| | (excluding the cost of bolts, paints, but including the cost | | | | |
| | of nails, screws etc.) | | | | |
| | (The quantum should be corrected upto three decimals) | | | | |
| | (ii) Sal : Local. | | - | | |
| | 2nd floor | 0.160 | Cum. | 88386.31 | 14141.81 |
| | 3rd floor | 0.110 | Cum. | 88612.55 | 9747.38 |
| | Painting with oil type wood preservative of approved brand & make. | | | | |
| | (a) One coat | 20.000 | Sqm. | 30.54 | 610.85 |
| 2 | Supplying fitting, fixing decorative lamination | | | | |
| | conforming to IS: 2046 : 1995 as per approved make, | | | | |
| | brand, finish and thickness with fitting, fixing the same | | | | |
| | on Particle/MDF / Ply Boards with recommended / | | | | |
| | approved adhesive with proper | | | | |
| | clipping the sides for better attachment as per direction | | | | |
| | of Engineer-incharge. The rate includes the cost of | | | | |
| | labour, adhesive and all incidental charges | | | | |
| | thereof. | | | | |
| | In first floor | | | | |
| | Glossy/Matt/Suede excluding surface texture or metallic | | | | |
| | lustre. | | | | |
| | (i) Thickness of laminate 1.5 mm | 30.000 | Sqm. | 907.22 | 27216.60 |
| 3 | Supplying, fitting and fixing boiling water proof ply | | | | |
| | conforming to IS: 710-1977 bonded with phenol | | | | |
| | formaldehyde synthetic resin conforming to IS: 848- | | | | |
| | 1974 of approved make and brand fitted and fixed as per | | | | |
| | design as per approval and direction of Engineer-in- | | | | |
| | Charge. [excluding the cost of supporting frame work | | | | |
| | and teak wood batten/Lipping] | | | | |
| | In First Floor | | | | |
| | (i) 4mm | | | | 0.00 |
| | 2nd floor | 20.000 | | 1075.77 | 21515.42 |
| | 3rd floor | 10.000 | | 1091.61 | 10916.08 |
| | (ii) 9mm 2nd floor | 11.000 | | 1490.92 | 0.00 16400.14 |
| | 3rd floor | 5.000 | | 1506.76 | 7533.79 |
| | (iii) 19 mm | | | | 0.00 |
| | 2nd floor | 20.000 | | 2769.18 | 55383.55 |
| 4 | Partition of teak veneer [1 mm] as per design fitted and | | | | |
| | fixed complete (excluding the supporting frame work & | | | | |
| | necessary teak wood battens): | | | | |
| | (i) 4mm thick commercial quality | | | | |
| | 2nd floor | 15.000 | | 557.68 | 8365.22 |
| | 3rd floor | 3.000 | | 573.52 | 1720.56 |

| SL. NO. | DESCRIPTION OF ITEM | QUANTITY | UNIT | Rate | AMOUNT |
|------------|---|--------------|-------|---------|------------|
| 5 | Polyurethane Polishing to woodwork with required | | | | |
| | colour as approved by Engineer-in-Charge with | | | | |
| | preparing surface including scaffolding and hire | | | | |
| | charges of compressor machine including cost of filler | | | | |
| | and hardener material such as P. U. Sealing, P. U. Top | | | | |
| | coat (Matt/Glossy), Thinner, Spirit etc. and inclusive of | | | | |
| | all operation, material and labour complete as per | | | | |
| | direction of Engineer-in- Charge. | 20.000 | Sqm | 946.81 | 18936.29 |
| 6 | Melamine finish coating over polished wooden surface | | | | |
| | after preparing the surface as per decision and direction | | | | |
| | of Engineer-in-Charge. | 20.000 | Sqm | 84.84 | 1696.80 |
| 7 | Scantling upto 50mm wide and 12mm thick (chamfering | | | | |
| | or rounding) for ceiling/partition battens including | | | | |
| | fitting, fixing in position with washers, coach screws etc. | | | | |
| | Complete. | | | | |
| | (a) Ordinary teak | 25.000 | Rm | 117.64 | 2941.12 |
| | Supplying wooden moulding slanting beat of size 37mm | | | | |
| | X 18mm (finished) of approved design to finish the joint | | | | |
| | between wooden frame of door/window with masonary | | | | |
| | in true line and level fitted & fixed with adhesive and | | | | |
| | head less pins complete as per direction of Enaineer -in- | | | | |
| | a) Teak wood beat | 10.000 | RM | 123.30 | 1233.01 |
| 09 | Supplying bubble free float glass of approved make and | | | | |
| | x) 10 mm thick coloured / tinted / smoke glass. | | | | |
| | | 2.000 | Sqm | 1290.70 | 2581.40 |
| 10 | (ii) Door stopper (Anodised aluminium) | 1 | Each | 79.18 | 79.18 |
| 11 | Anodised aluminium butt hinges of approved quality manufactured from extruded section conforming to I.S. | | | | |
| | specification (I.S. 205/66) and fitted and fixed with | | | | |
| | cadmium plated screws: | | | | |
| | (vii) 100 x 75 x 4.0mm. | 3 | Each | 105.20 | 315.60 |
| 12 | Anodised aluminium grip handle with base plate of | 5 | Luch | 105.20 | 515.00 |
| 12 | approved quality fitted and fixed complete. | | | | |
| | (a) With base plate. | | | | |
| | (iii) 300mm grip x 20mm dia rod x 50mm plate x 3.2mm | | | | 470.58 |
| | thick. | 2 | Each | 235.29 | 470.50 |
| 13 | <i>ii) Godrej Hydraulic door closer fitted and fixed complete.</i> | | Buon | 200120 | |
| 15 | in Board, Myanaane abor crossi nitea ana intea compreter | | | | |
| | (a) Heavy type | 2 | Each | 2334.80 | 4669.59 |
| 14 | (b) Supplying 'Godrej' mortice lock chromium plated with | | | | 1007107 |
| | keys 6 levers includinfitting & fixing complete. | 1 | Each | 2210.36 | 2210.36 |
| | , | | | | |
| | | 1 | Total | | 208,685.00 |
| | Rupees Two lakh eight thousa | , | | | |
| | | e (Above +) | | | |
| | | | | | |
| | | | | | |
| | Quoted Percentage of rate (in words) | uoted Percen | 0 | | |

Sd/-Managing Director & Commissioner, Health & Family Welfare Department